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Get a fidget spinner!  Spin it. I needed to spin time(s) to finish.

A rectangle is 28 cm on 
one side and 15 cm on 
another side.  What is the 
perimeter?

4 4
5

 + 8 2
5

The perimeter of a 
rectangle is 22 cm.  The 
longer side is 8 cm.  How 
long is the shorter side?

Draw a number line 

with 0, 1
2

, and 1.  Show 

where 3
10

 would go.  Is 

3
10

 closer to 0, 1
2

, or 1?

How many centimeters in 
680.8 meters?

What is the area of a 
rectangle with sides 5 cm 
and 10 cm?

6  ÷ 1
7

The diameter of a circle is 
1,484 cm.  What is the 
radius of this circle?

6 + 5 + 4 x 7

140,  150,  160,  170,  _____,  

190,  200

Pick the family fact that is 
missing.
75 ÷ 15 = 5
75 ÷ 5 = 15
5 x 15 = 75

(9 - 2) x 8 + 10
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Get a fidget spinner!  Spin it. I needed to spin time(s) to finish.

Find the LCM using the Birthday Cake method.

2 216 264

3 108 132

4 36 44
9 11

LCM: 4 x 3 x 2 x 9 x 11 = 2376

3 42 60

2 14 20

LCM:

2 18 20

LCM:

4 48 28

LCM:

3 24 30

LCM:

234 270

LCM:

216 576

LCM:
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Spin again. I needed to spin time(s) to finish.

Find the LCM using the Birthday Cake method.

4 140 180

5 35 45
7 9

LCM: 2 x 2 x 5 x 7 x 9 = 1260

4 36 44

LCM:

4 40 28

LCM:

2 18 20

LCM:

5 50 60

LCM:

240 208

LCM:

128 144

LCM:
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The Limerick Day assembly 

will begin at 2:00 p.m. 

Jessica has only 3
4

 hours 

left to finish her work 

before the assembly begins. 

What time is it now?

Peter picked 30 pretty 
flowers for his mother. 
One-fifth of the flowers 
were blue. How many 
flowers were not blue?

You cannot decide what pizza store to go 
to.  Ava's pizza cuts their pizza into 3 slices.  
Each slice costs $4 each.  Emily's pizza cuts 
their pizza into 5 slices.  Each slice costs $5 
each.  If you like each pizza the same, 
which pizza store has the better buy?

For 5,817,788,846,021, write the 
digit that is in the hundred 
thousands place.

2 x 3 =  3 1 4
+ 4 6 0

Rewrite these in increasing order of length:

464 dm,  201 m,  339 cm

Emily rolls a die.  What is the 
chance of her rolling a 2? 56 ÷ 8 =  

1 km = 1,000 m

13 km = m

886 - 424 =  
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60 ÷ 5 =  

Write the numbers 40 to 55 
on a sheet of paper.
How many of these numbers 
are divisible by 8?

8 4 6
- 4 0 6

Circle the addition property 
for 72 + 176 = 176 + 72.

commutative property
associative property

2 5
- 1 0

21 ÷ 3 =  7 x 12 =  

Circle the greatest number:
9,543

6,310,120,768
792,854

310,647,298,534

11 cm = mm 3 1
+ 4 7

Circle the digit in the hundredths place.

95.5525

Here is a pattern of letters:

     Z M M Z M M Z . . .

What letter will be the 19th term in the 
pattern?

7,485 - 5,332 =  11 x 6 =  48 ÷ 12 = 

In the number 973,248,632,607, the digit 0 
is in what place? 7 x 12 =  

4 x 4 =  

9 x 3 =  

24 ÷ 3 =  

How many grams are in 9 kilograms?

 grams
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The vowels are missing in the word search.
Fill in the missing vowels and circle the words.

M N C M M C

R B T

B N D M B R Y D

C C P T N R D

L T L B T S

B B R T T

T D R L L D R

Y N N N S

C R A D L E T S

N N D R S V S

AUDITORY DETEST BUBBLE
ENDORSE CRADLE INCLUDE
DISTRESS MOUNTAIN COMPLAIN
MIRROR CAUTION TABLE

What time is 13 hours after 
2:00 a.m.?

Amy cannot open her locker. 
She knows that the three 
numbers are: 9, 1,  and 14, but 
she cannot remember the 
order of the numbers.  How 
many different combinations 
are there?  List ten of them.

70 ÷ 10 =  48 ÷ 12 =  

9% of 100 is 9.
9% of 200 is 18.
9% of 500 is 45.

What is 9% of 900?

7 x 12 =  

16 ÷ 8 =  

20 ÷ 4 = 

5 x 8 =  
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+ 1 1 + 2 0 3 5 3 3 - 0 = 7 - 4 7
7 1

Use the pieces above to help you fill in the runaway math puzzle.

Anna is a family friend.  She will be picking you up from 
school and driving you to a bank.  Where should she go?  
Write instructions to explain how she could get there and 
where you will be going.

5 x 4 =  

6 x 10 = 

1

6 0 = 6 6

9 +

= 1

+ 8 3 = 1

4 0 2 7 +

- 1 = 4

3 + = +

= - 2

=

8

4 6

+

- = 1 -
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Four piggy banks contain a combination of nickels and quarters. Each piggy bank has five, 
thirteen, twelve, or eleven nickels. Each piggy bank also has seven, thirteen, fifteen, or three 
quarters. Kayla, Christina, Samuel, and Nathan are the owners of the piggy banks.

Figure out how many nickels and quarters each person has.

1. Nathan has a total of $4.40.

2. Samuel has less than sixty-five cents worth of nickels.

3. The value of Samuel's quarters is $2.65 more than the value of Samuel's nickels.

4. If the number of quarters Christina had were doubled, then the value of the quarters 
would be $2.50.

5. Kayla has more than fifty cents worth of nickels.

6. Samuel has either $3.25 or $1.75 worth of quarters.

7. Kayla has either $1.75 or $3.25 worth of quarters.

8. The person with fifty-five cents worth of nickels is not the one with $3.25 worth of 
quarters.

9. The value of Christina's quarters is fifty cents more than the value of Christina's nickels.

Kayla has  nickels and  quarters.

Christina has  nickels and  quarters.

Samuel has  nickels and  quarters.

Nathan has  nickels and  quarters.

20 ÷ 5 = 
Circle the smallest number:
38,904,657 1,230,496
521,784,613 82,057,981,469
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Robot wrote this program to solve a math problem.

# Variable for the number of limericks Connor read
connor_limericks = 120

# Variable for the number of limericks Adam read
adam_limericks = 107

# Calculation of the total number of limericks read
total_limericks = connor_limericks + adam_limericks

# Displaying the result
print("They read a total of", total_limericks, "limericks.")

What will the program print out? Fill in the blanks.

They read a total of limericks.

Wait! Robot forgot to write down the math problem.
Can you write your own word problem to explain Robot's computer code?
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91
9-

71
4-

67
6-

15
7-

01
8-

64
6-

41
4-

32
2-

82
3-

72
8-

14
8-

77
7-

6 x 9 = 7 x 3 = 8 x 7 =

9 x 9 = 7 x 7 = 3 x 5 =

4 x 3 = 6 x 8 = 2 x 4 =

2 x 5 = 8 x 6 = 4 x 2 =

38 - = 33 - 2 = 81 62 - = 53

- 4 = 79 - 2 = 33 38 - = 30

- 9 = 17 24 - = 15 20 - = 17

50 - = 45 - 6 = 9 - 6 = 69

x

60

12 5

x

9 11

x

12 5

x

11 5
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x

15 15

+

53 46

220
x

10

89
+

40
x

12 28

495
x

15
+

33
+

9 16

x

+

17
+

7 5 12

176
x

+ +

5 11 7

54
+

x

40
x

+

7
+

5
+

8
+

1 5 3 2 2

+

54
x

26
+

+

6
+ +

12
+

6 3 2 8 6 8 4

4 1 6
1 4 9

+ 2 5 4

5
2
6

+ 1

6 + 7 + 3 = 
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Write as a decimal.
Seven tenths 7 . 4

x 2
0 . 4 9

x 9

0 . 6 2
- 0 . 4 7 9

Write as a decimal.
Five and ninety-five 
hundredths

5 . 3
- 4 . 7 1

Write as a decimal.

 13 42
100

7 5 3 . 2

What is the sum of 17.5 and 
5.4?

8 6 3 . 2

Write the decimal in words.
0.06 5 . 5 4

+ 6 . 2 3
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6 0 2 2 7 9 3 9 3 1 1 2 3 6

Use the pieces above to help you fill in the runaway math puzzle.

13.7 - 1.18 = 
8 . 3

1 2 . 8
+ 2 . 1

9 9 . 7
x 9 . 7

+ =

- = -

+ + =
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Each row, column, and box must have the numbers 
1 through 6.  The first box is done.

2 1 4 6

3 5 6 2

4

2 3 4 5

3 5

6 2 3

Each row, column, and box must have 6 different pictures.
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Each box needs a number from 1 to 9.  You may re-use numbers.

sum of

5
sum of

7 3
sum of

5
sum of

6
sum of

8
sum of

10
sum of

6
sum of

8
sum of

5
sum of

6
sum of

4

3 3
sum of

9 2
sum of

5
sum of

10 6 4
sum of

6 4

sum of

6
sum of

6
sum of

4
sum of

7 3 1
sum of

3
sum of

6
sum of

8

1
sum of

8
sum of

4
sum of

6 2
sum of

3
sum of

10
sum of

4 1
sum of

10
sum of

7 1 1 5

53,879 + 88,952 =  

Write an equation to represent this:

The product of ten and seven is seventy.

8 x 8 =  

Pick a month.  Can you make up a calendar 
for your month with four Tuesdays?  Show 
your calendar below:

9 x 5 = 993 - 551 =  

4 x 7 =  
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